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Bq. kg Ba. kg Ba kg
1 57 Hh T R6.6.24 TSR BRHET(<74) BHE3(<L7.3) BHET
2 K BEHT R6.6.24 PSR BmHEEY(<8.1) BEEY(<74) BT
3 HHEEm R6.6.24 PSR BRHET(<L7.6) BRHE3(<7.4) BHEET
4 HHEEm R6.6.24 PSR BRHET(<85) BHE3(<6.0) BHEET
5 HHEEm R6.6.24 TAFHA BRHET(L7.8) BHE3(<6.0) BHEET
6 i th BT R6.6.25 HFHLS BRHE9(<9.5) BRHE9(<8.3) - qarkeac
7 i th BT R6.6.24 =1y BmHEEY(<82) BMHE9(<6.1) - qarkeac
8 EHEET R6.6.24 vi=r BRHE9(<9.6) BRHE9(<7.0) - qarkeac
9 i th BT R6.6.25 BFrHF BRHE9(<8.6) BRHE9(<8.8) - qarkeac
10 $rth BT R6.6.24 ESA BRHE9(<9.0) BRHE9(<6.8) - Jarheac
11 $rth BT R6.6.24 RIHFA BRHE9(<9.7) BRHE9(<L7.6) - Jarheac
12 HE™ R6.6.25 <3dF BRHE9(<8.6) BRHE9(<7.3) - Jarheac
13 HE™ R6.6.25 E4 A BRHE9(<8.2) BEHE9(<6.9) - Jarheac
14 HE™ R6.6.25 <54 BRHE7(<7.2) BRHE9(<6.7) - Jarheac
15 EHEET R6.6.24 LHLA BRHE9(<7.0) BRHE9(<7.0) - Jarheac
16 i Hh BT R6.6.24 A= BRHE7(<8.4) BRHE9(<6.8) - Jarheac




BREER

No 5T £REYH HBDESE 2 L-134 2 L-137 BHE
Bg ke Bg kg Ba ke

17 i HhET R6.6.24 ESVAH= BRHEE$(<75) BRHET(<7.3) BREEd
18 FEET R6.6.20 &3 BHES(<1]) BHE7(<7.9) ‘7
19 HET R6.6.23 &3 BHET(<79) BHE9(<7.0) ‘7
20 HET R6.6.26 7HY BRHEES(<9.7) BREHET(<7.1) BREEY
21 mHEET R6.6.20 EXATVRS BRHEES(<7.) BRHET(<84) BREEY
22 7 Hh BT R6.6.25 R BRHEE(<7.8) BREET(<74) [; Jackcar
23 WhEh R6.6.23 IR R E(<7.6) BREET(<74) [; Jackcar
24 WhEh R6.6.28 IR B E9(<9.9) B E9(<83) [; Jackcar
25 WhE! R6.6.22 ThLY B E9(<9.3) B E7(<84) [; Jackcar
26 WhETH R6.6.22 hF+HLS BREET (<) B E7(<86) BRHEY
27 WhETH R6.6.22 X7ray BRHE9(<8.9) BRHEE7(<7.9) BRHEY
28 WhET R6.6.22 EZ4 B E9(<9.6) BRHE7(<82) BRHEY
29 WhETH R6.6.23 RoRY B E9(<94) BREET(<T]) BRHEY
30 WhETH R6.6.22 7Y BRHEE(<7.6) B E7(<85) BREEY
31 WhETH R6.6.22 <73 BRHE9(<82) BREE7(<7.9) BREEY
32 WhETH R6.6.22 Ea7 A BRHEE9(<8.7) BREET(<T) BREEY
33 WhETH R6.6.22 LiAiLA B E9(<82) BRHE7(<6.8) BREEY
34 WhET R6.6.22 YFELIHLA B E9(<6.6) BRHEE7(<7.3) BREEY
35 WhEM R6.6.22 TJN)AA@214h) BRHEE(<79) BREET(<7) BREEY
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36 LWhET R6.6.22 roYxAn BRHEE$(<7.0) BRHE$(<75) BREEd
37 WhET R6.6.22 RILAH(RAH) B E9(<9.9) BE9(<828) > Jarkcar
38 WhEM R6.6.22 YF¥4a BRHEET(<11) BRHEET(<74) BRHEEY
39 WhET! R6.6.22 T7IE BRHEES(<8.1) BRHET(<7.8) BREEY
40 WhE R6.6.22 FALFHFI= B 9(<9.0) BRHE9(<83) BRHEY
41 = FEJ T R6.6.22 RAINIL B E9(<9.9) BREEF(<7.) [; Jackcar
42 = FEJ T R6.6.22 LAANL B 9(<9.6) BRHET(<7.9) [; Jackcar
43 FEENT RN R6.6.25 7 BREHET(<11) BEE9(<8.7) [; Jackcar
4q | ZRERT B (FIE R6.6.25 pg=! BEET(<1) BREEF(<7]) [; Jackcar
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Bq. kg Bq. kg Bg kg
1 EHEET R6.6.24 i=VEt BRHE9(<8.0) BREE9(<7.0) BRHEEY
2 $ tth BT R6.6.26 i=VEt BREE9(<7.9) BRHEE9(<6.6) - Janpcc N
3 WhEm R6.6.24 i=VEt BREE9(<7.0) BRHEE9(<6.8) - Janpcc
4 WhEm R6.6.24 i=VEt BREE9(<6.7) BREE9(<7.0) - Janpcc
5 = [FET R6.6.22 savA BREEI(<11) BREEF(LT7.1) L Janpcac N
6 1?52?5“&2()[551'&%% R6.6.22 {74 BHE(<14) 100 10
wmE™M XB) TR .
7 TS R6.6.24 A5 BREE9(<9.2) 16.2 16
FEh AR TR .
8 e R6.6.22 I A BRHE9(<8.0) 10.2 10
o | FHEM KA R6.6.22 T A B E$(<0.2) B EF(<7.4) Bed
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